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d) @remGh seum) e) eflenL egfweisbeneo
LD Ohetr® @WDNN R FITLY ShHeToTIEed SLPSLDED LDETTEIDES
SLLED.......
1. el e DbETTBE6IT eueHT HTLIQUID LIuNedTDmeT.
2. momm eBed AMRIGHHMID QFwIw eflgpLblleoTmeir.
a) 1&M 2 gam b) 1sem 2 sM
c) 1sam2san d) 1sf2ef
e) eflenL eEfweisbeneo
gflwnesreubenoL OUMBSDS CoiTe.
A) snens 1 SHSUITEID
B) smé&aibd 2.  Sasdbgnoen
C) @evibusib 3. gemmbewfl
D) uLeod 4. Seoliudsd
A B C D A B C D
a) 4 3 2 1 b) 3 4 1
c) 3 4 2 1 d 4 3 1 2
e) sflewL egMweisbeneo
OLINHSS15.
A) Sywidfens 1 ULLEE wnene
B) 9irs 2 eun 2. eapruded
C) swess 3. 8L&ms aungHuwib
D) sewwp 4. eemL Sleey
A B C D A B C D
a) 3 1 4 2 b) 4 2 1
cg 1 2 3 4 d 4 3 2 1
e) sflewL egMweisbeneo
fetreubd SMilwrugsefled 618 @6tTM) FLD6TOT FDWID FNINSSHI?

a) wenlGwamed b) euememunug

€) mre@wng sreflwd  d)  deoliugsmmd

e) sflenL egMweisbeneo

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

‘gnefifl mrLetr SEMGUNe’ ererTs OSMLMIGLD SeoliLBemrL
unLedled ‘S8’ ar6iTLS SHD OLIMBET Wing)?

a) @wuibened b) Sissbs®L S
C) SpewETTEFSHSHILD d) smewewr
e) sflevL egMweisbeneo

“presw Camks’ apaiisefiug eetn feoliLdsnIsSament
SemhiGsnelgseT GWIHmIDTM Sidherflieurt wimi?

a) @wweuibLiest b) eBGEGsTNS6H
C) Gegetr e Geustt  d)  Essemeogansgeomit

e) eflenL egfweisbsneo

“eréitemy ApLIfetT @ewioweurt efwIL” ereb LIML6d surllserfled
WMEGEmLW ALIL| SHevoTenaTéLimed LIEnDEFTHDLILILL&I?

C) A9 webrevtedt

a) Gsmeuevsst b) nengseunsst

d) wiprusst  €) sl OFfwelseneo

sevenSullesr GHMHDSMS 2_wL&S LleTaubLD 6hE 2 6u6emiD
werm| AeoliLBasTrsHed S LLILIL eflebenen?
Nl C) usdnsnef

sflenL 15 flwefleoemen

a) esmbmeney b)
d) esuwmer e)
B HSSSHTULIILD 6T6dTn] EILITHEDLDWIL 6T SULPrRISLILIGLD SLOILD
SmiNwid e1gy)?

a) deotiudsmmibd b) enfiGoEmed C) GeTLOCHSA
d) euswemwinug e) efenL asfwsiieoemen
feolILSSMID WPSHETIPEDDILTS GSLRDEST STULNWLD eTesTm)
WIMTmed LSLpLILILL &7

a) ssgneuhs LIS b) &ssmevsengseomi
C) .. Bend smbameomit
d) eweuwmyf Getemen  €)  eflewL A Mwelicoemen
wewlGhsHmed samid 2 Leomed Gsmeitmid &bHmmiserled
LiletTeu(BLD 678 Q6T 60607

C) seney

a) esnemed b) sGeaETe

d) smob e) efenL asMwsficoemen
BeTE1eUETITLIMENED EIDMESFID 618S6MEDT LIMLED 2_61T6ITE)|?

a) 400 b) 401 c) 431

d) 501 e) efenL asfwsfisoemen

“pupGsen GaTEILeE CaLLE OGeflgen” et LAetTeumD
abg SIS SligseT Lulem) auBSDSI

a) deotiugsmmbd b) weniGoasemeo C) ecumemwTLS
d) semeGsd e) eflenL asfwsficoemen

' Sewp&amiensulies HMIG GHTETNID” GT63TEnILD SHLDLITTLDMLIGTT
auflsefleo ApLiNssiLGeug wrg?

a) smems Wl LThs Afbsg

b) sruems BE Gumpesllsi uEHESWITE LGNSDMLESS

C) SiwEOSHEMET 2_EHLILG] SHIEDS B

d) GuhseL SmeSEID

e) eflenL egfweiebeneo

“saeum wetreund GemerGuinedr GmuSH

Speunesr winieresr e Nedr BewmEhSleurmetr” eTeHTENID LITL6D
aflsafled ‘@QemmErdeuiTen’ aeTEnID CEMTED SHD OIITHST

wing,?
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87.

88.

89.

90.

91.

92.

a) Geuetmgeurmedt b) euewmudentmett

c) ommhdemesr d) eupridesmest

e) sflenL egMweisbeneo

SD&EHELUDDISTOINBHSTH0ES CoHHESE.

a) etnD&ET evIbLISLD

b) ugewwwnit Geobusid

C) LE6T BeobLSHD

d) weAwnT eobusid

e) eflenL eFfweisbeneo

Wetteugbeuemraubmiet sflunenauhenmns CHHOS®.

Eeus bznipew)

1 88 fpeFILnsseTed SUDDLILILL (p&6d STULALILDIGLD.

2. @eobusid etetip 2 LNflesemens S\&TeuoTLg).

3. 13 BeODLSMHISHEM6TS C\GHTETTL GHIHITED LDETIHITED ETETTEYLD
SiemP&&EILGSEDS).

4. 3B55565C56u1 EousdAbgmpeufl urGeasna&

petr@eutmiLibns HifleflhSSLD eTETEILD HTened Guibleotmit.

a) 2,3 b) 13 c) 23,4
d 12,34 e) efenL azfwsficoemen
&LDLITITLDITWLI 63015 & 66T &L ULeSSHe0 &LDLITTed

DSHWTTUILLRGBSGD  HBHSHWET’ 6D 1FT6d S(HLD
QWIMEBET WINgI?

a) efuELEES SeweveussT

b) mreumils sarL&g16@ Semeoausst

C) Sisbry 2 _ewLweuest

d) yetrapmieued O\&metTL. GLD6ST

e) eflenL eEfweisdsneo

“ID6bEVEOIID E\FMIEUED SHiTEHd

QUEHAWILD LDBSLD LyS@ID” - 6T6dTD DHiQ WINHEDLIS]?

a) yeoaur GRHDS b)  ewbu
C) Bmss6558s6i d) Espemevsensgemmit
e) eflenL egfweiebeneo
OLINBSS15.
A) deom 1. ueuend
B) GanG 2. 8ns
C) seuewn 3. Beoey
D) wduib 4. esmby
A B C D A B C D

a) 1 2 3 4 b) 4 3 1
4 2 3 1 d 2 4 1 3

e) eflenL egfweisbeneo

Gaiieney / Gamenel - SH60 CHIT eT6iTLIS?
a) Gapmieww 2 GY b) 26w 2 @®my
C) Gauigagmed d) eeme 2 my

e) eflenL egfweisbeneo

93.

94.

95.

96.

97.

98.

99.

100.

ewngleuiseT aLmedle_pri GuT SHgSSHGD BOLILGS ..........

a) ened b) emwse C) psvemed

d) unemeo e) efevL agiwesfleoeneo

BB eAlpaneT g 6185560631 BT SEHEE S\SewrLM_LILGSDE?

a) 2 b) 25 «¢) 27

d) =2s e) eflewL aEMwesdeneo

Q&MDDLD EINIHET S(HS.

a) Sigetenest eumubLosufl b) ouwsts

C) gietiub d) deoiby

e) eflenL agfwsiieosneo

PN560 OFHMBAINE RUPSHSHID SEnelL|eTorL Ty

Guiss Wewflwer Wimeun aufdeTuapHBEM - aT6sTm Slig

SLbAUDMETET [HTEd

a) BeoGsd b) semeweorusmIb

C) Sausdmgnivemf d) deotdammbd

e) eflenL egfweisbeneo

OLINBSS15.

A) 2 eng 1. efemeuTIIMeDEmETTU|LD EILIWIT

B) wnseub 2. BMLESOD

C) smpsLed 3. e fsagnpemnLit

D) eembmeut 4. efenensesnems
A B C D A B C D

a) 2 3 1 4 b) 4 1 2 3

c) 1 23 4 d 2 3 4 1

e) eflenL egfweiebeneo

sapml 1: euLOmPufed smeuws gD e6iTD HIeMeLS H(L6fs

SL6d aWsLULL Sl evofl 86085 6001 THT6D

SHETUTIQUIEOMBISBTITLDTELD.

sgapm 2 : uneflab eetug STUWL UeIGL  eTetTm)

SEWTIQWIOMRISTID SNBSS

a) sapmi 1, 2 seum) b) sapm1sam 2 &

C) sapmiisfi2gan d) sepm1, 2sM

e) sflewL egMweisbeneo

sflwnenaubenms CoHAOSM.

1. euprsmuiusdhe Sememrwnsl CurhpLILGSeTD
gemmenilenw Guibnmiweur G meoneLmsEse6ur.

2. ShHTe 12 SnewLrhisenerb 2131 éfESSLILINSSEH6TLLD
2_emLIIG)I.

a) 1wrED b) 2wr@Eb c) 1,2

d) ggusieoemeo e) efewL agwefleosneo

OLTBHSTSSS C5HBESE-

EMINWSMmSS GHSSLD LD OLILITS6)
a) smsE asLILET b)
c) smefluibd d)

O\SMLITHENLE E\FIUIL|6T
Si&608:86f

e) eflenL egfweisbeneo
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General English (100)

When Koushik was a child, he play in the
street.

a) won’t b) must c) usedto

d) will e) Answer not known

Synonym of Clamber

a) Walkin an awkward way

b) movein an awkward way

¢) Walkina pleasant way

d) Jumpina pleasant way

e) Answer not known

Synonym of Brambles

a) Bramblesare not thorny

b) Abrambleis not abush

c) A prickly scrambling shrub of the rose family
especially a blackberry

d) Aespecially ablackberry blueberry

e) Answer not known

In schools, students wear uniforms. It is

compulsory.
a) should b) may c) may
d) will e) Answer not known

I let you know when | havemore informa-
tion about the matter.

a) should b) shall c) can’t

d) Must e) Answer notknown
Synonyms of Lumping

a) Carry with ease b) Carry with difficulty
c) Pickwithease d) Pickwithunease

e) Answer not known

My house decorating as I'm tired of the
old furniture.

b) may c) needs
e) Answer not known

a) could
d) may

Direction (8 -10)

And charging along like troops in a battle,

All through the meadows the horses and cattle:

How does the train move forward?

a) Thetrain movesin alast manner

b) The train moves forward, like the soldiers
attacking the enemy in a battlefield.

c) It makes noise

d) Itdoesn’t make sound but going fast.

e) Answer not known

Where do the horses and cattle graze?

a) Inthe meadows.

b) Intheland

c) Inthesnow-covered area

d) Inthe wind

e) Answer not known

10.

What is the figure of speech in the first line?
a) Metaphor b) Personification

d) Simile

e) Answer not known

¢) Oxymoron

Direction (11 - 13)

11.

12.

13.

14.

15.

16.

17.

18.

19.

Faster than fairies, faster than witches,
Bridges and houses, hedges and ditches;
And charging along like troops in a battle,

All through the meadows the horses and cattle:
Who is moving faster than fairies and witches?
a) The bridges b) The houses
c) The hedges d) Thetrain
e) Answer not known
What is the rhyming scheme used here?

a) abab b) aabb
d) abac e) Answer not known
Write down the words in Alliteration:

c) aabc

a) Bridges-ditches b) Houses—hedges
c) Battle - cattle d) Meadows - Cattle
e) Answer not known

When was Robert Louis Balfour Stevenson born on?
a) 16 Nov 1852 b) 14 Nov 1851
c) 13 Nov 1850 d) 15 Oct 1850
e) Answer not known

When was R.L.stevenson died?

a) 3 Dec 1894 b) 4 Dec 1895

c) 5 Dec 1896 d) 6 Dec 1897

e) Answer not known

R.L.Stevenson was a
and travel writer

, hovelist, poet, essayist

a) German, musicians

b) Irish, dramatist

c) British, short story writer

d) scottish, musician

e) Answer not known

Lincoln Born Feb 12,

a) 1809 b) 1810 c) 1811

d) 1812 e) Answer not known

Lincoln has been remembered as the “Great Emanci-

pator” because he worked to end in the united
states, 1863.

a) Apartheid b)
c) Untouchability d)
e) Answer not known

Slavery
Social discriminations

Synonyms of dusty
a) Clean b) Soiled ¢) Smudged
d) untidy e) Answer not known
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20. Lincolnwas
a) 14th
d) 17th
Directions (21 - 25)
The Poem “Indian Seasons”
21. | make the feet dusty

President of USA (1861-1865)
b) 15th c) 16th
e) Answer not known

a) Summer b) Winter c) Fall
d) Rainy e) Answer not known

22. Frogs and toads will visit when | am there
a) Spring b) Rainy c) Autumn
d) Winter e) Answer not known

23. | am pretty short and sweet
a) Winter b) Summer c) Spring
d) Fall e) Answer not known

24. | make your garden smell sweet___
a) Fall b) Winter c) Summer
d) Spring e) Answer not known

25. Leaves will wither because of me
a) Autumn b) Winter c) Summer
d) Spring e) Answer not known

26. Which word refers to ‘rain’ in the poem “Indian Sea-
sons”?
c) Dryland

a) Antipodes b) Monsoons

d) Tempest e) Answer not known
27. Which season mentioned in the poem “Indian Sea-

sons”?

a) Summer, Antumn, Rainy, Spring

b) Spring, Summer, Antumn, Rainy

c) Rainy, Spring, Antumn, Summer

d) Summer, Rainy, Spring, Autumn

e) Answer not known
Comprehension (28 - 32)
It was four years ago, in the month of October. One night
the earth quaked. Yes tremors are common in these
parts. These snows may seem eternal, the Himalayas may
look solid, but the truthis, deep down they are unstable.
We, who live here, are accustomed to tremors. But what
happened that night was more than that. It was a terrible
earthquake. Its effects were felt as far away as Delhiand
Lucknow.
28. When did the earthquake occur?

a) One of the cruelest month, october

b) Every year of the months

c) Onceupon atime, in the month of may

d) It occurred four years ago in the month of

October

e) Answer not known
29. Whatiscommon in these parts?
b) Peacefulness c¢) Stagnation
e) Answer not known

a) Steadiness
d) Tremors

30. What is the truth about Himalayas?

a) Himalayas may look solid but are unstable.

b) Satpuraisthe famous hillin Himalaya

¢) They are not growing

d) Mountkailash is not pilgirimaye site

e) Answer not known
31. Where did they feel the effect?

a) They felt the effect in Delhi, Pakisthan

b) They felt the effect in Delhi and Lucknow.

c) They felt the effect in Maharastra, Gujarath

d) They felt the effect in Punjab, Haryana

e) Answer not known
32. How was the earthquake?

a) It was not affect the living thing

b) It was not terrible

c) It was horrible

d) It was terrible one.

e) Answer not known
Comprehension (33 -37)
Some insects are harmful to human beings. The poison of
the black widow spider causes unbearable pain. It stiffens
the muscles of the abdomen and causes death to some of
the victims. Some kinds of mosquitoes carry germs that
cause diseases such as malaria, yellow fever and sleeping
sickness. The mosquitoes pick up the germs and pass them
on to the people they bite. Flies play a partin spreading
such diseases as cholera, dysentery and typhoid fever. All
insects which carry germs and spread diseases live and
breed only in dirty places. So we can prevent such diseases
if we keep our houses free of dirt.
33. How harmful is the bite of the black widow spider?

a) It affects the brain of the victims

b) It affects the heart of the victims

c) It never causes the death

d) It causes unbearable pain

e) Answer not known
34. What are the diseases caused by mosquitoes?

a) Tuber-Culosis

b) Malaria, yellow fever and sleeping sickness.

c) Pneumonia

d) Typhoid

e) Answer not known
35. How do mosquitoes play a part in spreading dis-

eases?

a) Mosquitoes pick up germs and pass them

b) It lives in most parts of the world

¢) Notall mosquitoes bite people or animals

d) Onlyfemale mosquitoes bite.

e) Answer not known
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36.

37.

Why are flies harmful to us?
a) Flies perform valuable role in ecology

b) Flies, can spread diseases such as cholera,
dysentery and typhoid fever.

c) Flieshelpthe farmers
d) Flycan lay up to 600 eggs in her short lifetime
e) Answer not known

What is the necessity of keeping our surroundings
clean?

a) Investinareusable boltle

b) Avoid products with microbeads

c) Make sure your waste goes to the right place
d) We can prevent diseases

e) Answer not known

Direction (38 - 41)
Fillin the blanks :

38.

39.

40.

41.

please close the door?

a) mustyou b) shouldyou c) oughtyou

d) couldyou e) Answer not known
please open the window?
b) couldyou

a) mustyou ¢) shouldyou

d) oughtyou e) Answernotknown
mind going to the back bench?
¢) wouldyou

a) oughtyou b) mustyou

d) shouldyou e) Answernotknown
please bring some water for me?
b) couldyou

a) mustyou ¢) should you

d) oughtyou e) Answernotknown

Direction (42 - 45)
Use the phrases could you or would you in the following
situations with your friend.

42.

43.

44,

Ask the policeman for directions

a) Should you show we the direction?

b) You used to show me the direction?

¢) Must you show me the direction?

d) Couldyoushow me the directions?

e) Answer not known

You need to borrow your friend’s bike.

a) Should you mind lending me your bike?

b) Might you mind lending me your bike?

c¢) Needyou mind lending me your bike?

d) Would you mind lending your bike?

e) Answer not known

You would need to exchange the book purchased.
a) Would you mind exchanging the book purchased?
b) Should you mind exchanging the book purchased?
¢) Mightyou mind exchange the purchased book?
d) Needyou mind exchange the book purchased?
e) Answer not known

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

Lincoln was the president from the Republi-

can party.
a) First b) Second c) Third
d) Fourth e) Answer not known

We are not completely sure but Kishore
come back tomorrow.

a) needn’t b) may c) ought
d) dare e) Answer not known
Synonym of Charge

a) Absolve b) Retreat

c¢) suddenattack d) None ofthe above
e) Answer not known
| have some more juice,please?

b) Needn’t c) Shouldn’t

e) Answer not known

a) Could
d) Mustn’t
I believe my eyes. Is Santhosh the one who
is standing over there?

a) couldn’t b) mustn’t c) must

d) need e) Answer not known

Dinesh be the richest person in the vil-
lage. He’s just bought two luxury cars.

a) maynot b) may c) must

d) dare e) Answer not known

Imran have studied more for the final exam
than playing.

a) would b) should c) can

d) may e) Answer not known

Synonyms of Glimpse
a) Watch carefully b) See wholly

¢) Watchundoubtedly d) Perceive briefly

e) Answer not known

I rather request you to check my exercise

before giving it to the teacher.

a) would b) should c) oughtto
d) may e) Answer not known
| use your mobile phone?It’s an emergency.
a) Must b) May c) Won’t
d) Should e) Answer not known

Synonyms of Tramp
a) Apersonwho travels from place to place on foot
in search of work or as a beggar

b) Aperson, whois selling fruits and nuts
c) Apersonwho livedin hills

d) One who make a strong voyage

e) Answer not known

Nirmala’s daughter
she was seven.

write perfectly when

b) could
e) Answernot known

a) might c) mustn’t

d) Should
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57. Synonyms of Stringing

a) Hangsothatit stretchesin along line

b) Itisthe tendency of an object to resist any change

in its motion.

c) Collision of words

d) Geometry of motion

e) Answer not known
Direction (58 - 64)
Read the following passage adapted from ‘Three Men in
a Boat’ and fill in the blanks with appropriate modals and
read the paragraph aloud

| thought | will go to British Museum today to read the
treatment for some slight ailment of which I had a touch.
1 (58) read all | wanted to read and then felt
I (59) begin to study diseases. | started to
generally turn the leaves idly.l came to typhoid fever, read
the symptoms and discovered | (60) be hav-
ing it for months without knowing it. Cholera, | had severe
complications. Diphtheria, | (61) have been
born with. | was relieved to find that Bright’s disease, |
had only in a modified form as so far as that was con-
cerned, 1(62) live for years. The only disease
| (63) conclude | had not got was a house-
maid’s knee. | sat and pondered. | tried to feel my heart. |
(64) (not feel) my heart. | walked into the
reading room as a happy healthy man but crawled out as

a decrepit wreck.

58. a) could b)  should c) must
d) oughtto e) Answernotknown

59. a) should b) may c) might
d) could e) Answer not known

60. a) should b) must c) could
d) oughtto e) Answernotknown

61. a) should b) must ¢) oughtto
d) could e) Answer not known

62. a) would b) oughtto ¢) should
d) must e) Answer not known

63. a) should b) could c) must
d) oughtto e) Answernotknown

64. a) could b) should c) must
d) oughtto e) Answernotknown

Direction (65 - 67)
Do’s and Don’ts (Necessity, Obligation and Permission)
Choose the correct option.

65. We use (should/must/ought to) when some-
thing is compulsory, obligatory and important.
a) may b) might c) could
d) must e) Answer not known

66. We use
thing is the right thing to do.

(should/must/ought to) when some-

a) oughtto b) may c) might
d) could
67. Weuse

thing is suggested or recommended.
¢) should

e) Answer not known

e) Answer not known

(should/must/ought to) when some-

a) may b)
d) could
Direction (68 - 74)

Complete the sentences with one of the modal verbs giv-

might

en below.
68. Students be quiet when they write the ex-
amination.
a) may b) might c) oughtto
d) should e) Answer not known
69. You wear a coat, it’s quite warm.
a) shouldn’t b) might c) may
d) could e) Answer not known
70. open the window? It is very hot in the room.
a) may b) should ¢) might
d) must e) Answer not known
71. | go to the school yesterday because | wasiill.

a) should b) must c) couldn’t

d) oughtto e) Answernotknown
72. When she was eighteen, she run fast.
a) should b) must c) oughtto

d) could
73. You

e) Answer not known
drive fast. It’s not safe.
a) shouldn’t b) may c) might

d) could e) Answer not known

74. Sachin is a famous cricketer. He bat well.
a) should b) can c) must
d) oughtto e) Answernotknown

Direction ( 75 - 83)

Fill in the blanks with appropriate modals.

(will, shall, would, should, can, could, may, might, ought
to)

Milk is a nutritious food enriched with vitamins and pro-
teins. We (75)
___(76) not develop deficiencies in our body. Aged

take milk regularly so that we

persons, children and patients ___ (77) take milk in

sufficient quantities as it provides strength to their body.
We __ (78) supplement it with fruits, vegetables and
pulses for proper growth of the body. But we
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__(79) consume milk of good quality. Otherwise it

___(80) cause harm to the body. We ___ (81) __ be
very careful while selecting our food items because there
are chances that these __ (82) _ be adulterated. We
___ (83)___ protect our health.
75. a) should b) may c) might
d) could e) Answer not known
76. a) should b) may c) will
d) must e) Answer not known
77. a) may b) could c) might
d) should e) Answer not known
78. a) may b) oughtto c) could
d) should e) Answer not known
79. a) could b) may c) should
d) might e) Answer not known
80. a) could b) should c) may
d) must e) Answer not known
81. a) may b) oughtto c) should
d) must e) Answer not known
82. a) oughtto b) should c) might
d) must e) Answer not known
83. a) could b) may c) might

d) should e)
Direction ( 84 -93)

Complete these sentences using appropriate modals. The

Answer not known

clues in the brackets will help you.

84. When | was a child, |
now | can’t. (ability in the past)

climb trees easily but

a) should b) usedto c) might
d) may e) Answer not known
85. | win this singing contest. (determination)
a) may b) must c) should
d) will e) Answer not known
86. You buy this book. It is worth buying. (ad-

vice or suggestion)

a) should b) may

d) could e)
87. Poongothai

c) might
Answer not known

speak several languages. (abil-
ity in the present)

a) can b) may c) should
d) might e) Answer not known

88. Iswear | tell lies again. (promise)
a) may b) might c) shall
d) could e) Answer not known

89. My father____ play badminton in the evenings
when he was at college. (past habit)
a) usedto b) should c) must
d) could e) Answer not known
90. You do as | say! (command)
a) should b) must c) could
d) oughtto e) Answernotknown
91. | have another glass of water? (request)
a) should b) must c) could
d) oughtto e) Answernotknown

92. Sibi has not practised hard but he win the

race. (possibility)

a) may b) should c) must
d) oughtto e) Answernotknown
93. We preserve our natural resources. (duty)
a) may b) should c) might
d) could e) Answer not known

Direction (94 -100)

Complete the following sentences with modals using the

clues given.

94. You help the needy. (moral obligation)
a) oughtto b) may c) might
d) should e) Answer not known

95. If lwere you, | not behave like that. (con-
ditional sentence)

a) shouldn’t b)wouldnot c) might

d) could e) Answer not known
96. | never tell a lie. (determination)
a) will b) may c) might
d) could e) Answer not known
97. My uncle have reached by now. (possibility)
a) must b) could ¢) should
d) oughtto e) Answernotknown

98. The patient is critical. He be taken to the

hospital.(compulsion)

a) must b) may c) might

d) could e) Answer not known
99. You not attend my class. (order)

a) may b) can c) might

d) must e) Answer not known
100.You not waste time on it. (necessity)

a) may b) could c) must

d) might e) Answer not known
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101.

102.

103.

104.

105.

Aptitude (25)

Find the C.I1 on¥15000 for 3 years if the rates of inter-
est are 15%, 20% and 25% for I, Il and Ill years re-
spectively.

[, Il bomib 1l Syetr@aenssner el sigmgsT pepnGW
15%, 20%, WpPmIb 25% eefed, 15000 B&& 3
DR BHEHHS HEOLGGSLD Fal (B CULIREDWIS HTETITS.

a) 10,720 b) 11,875 c) 10,875 d) 9,875

e) Answer not known / eflenL aisflwefisosneo

(2 (2 ()
Solve / &iréa:: (gj x (gj = [gj
a) 3 b) 4 c 1 d) 2
e) Answer not known / eflenL aisflwefisosmeo
A goat is tethered with a rope of length 45 m at the
centre of the circular grass land whose radius is 52 m.
Find the area of the grass land that the goat cannot
graze. (m?)
52 1§ Spoepeen @@ UL 6uQeupsiTeT L6066 6rfludl6tr
owwsSGHa 45 B Bereperer @m sulbmred G
SLLULLGeTeng). Db Sl Lmed Gowidpiouins Lisoelsuerflufiest
urliueney &mewors. (52
a) 2224 b) 2244 «¢) 2134 d) 211
e) Answer not known / eflenL aisflwefisosnen

1 2
Subbu spends 3 of his monthly earnings on rent, 'c

1
on food and o0 °n monthly usuals. What fractional

part of his earningsis left with him for other expenses?

&l &eug NG euLIeTsHed, — UhG 6@
2 1
QUL ENSHEHSHTSHELD, g L@ 2_emreMhaM&HaLD LDHMILD E LIrki@

QULPSEHLDITENT LDTSE CHEMEUBEBSHHTHOLD 6\F606MBRDMIT eTevilen,
9D 6FeeyHEnsHTe: JeuflLd WswpsTar eupLDMen S 6om
NetrenT LGS eT6tTenI?

1
a) - b)

5 d)

c)

|-
lw

5
e) Answer not known / eflenL aisflwefisosnen

If 8 workers can complete a work in 24 days, then 24
workers can complete the same work in (days)

8 DpL &6 @ Ceusmeveml 24 HTeTaHeT6d O\FUII (PIRSSTTEH6IT
aeoflled, NBH Cauemevedw 24 L &ET O\FUIG WSS
TBSSIH6\HM6TEBLD HsTaeflen eretorenligens (B serlled)

a) 8 b) 16 c) 12 d) 24

e) Answer not known / eflenL aisflwefisosmeo

106.

107.

108.

109.

110.

111.

Afruit seller bought a basket of fruits for Rs.500. Dur-
ing the transit some fruits were damaged. So, he was
able to sell the remaining fruits for Rs.480. Find the
profit or loss in his business. (Rs)

@ LILD 6U6TONISIT 6(H Sa6mLLI LILPMRISENET e 5O08E 6UMThIS6uIIT.
@53 UBCLING 6o LIPrhsET HemdeilLer. s 2 eTerm
LIpMEISsemeT o, 48056@& Siaunmed eflbLiene OFUIW APRHSS)
eTeaflsd SieumEDLW oML DH6beog BLLLD Setors. (erp)

a) 20 Profit/@eomuib b) 10 Profit/@eomuid

c) 20 Loss/mrLib d) 10 Loss/mrLib

e) Answer not known / eflenL aisflwefisosmeo

O exceed 10
By how much does [ 10 exceed \ 10/ ?
11 11

) oy L)
10 Spenig \10) &g SITLIQEYLD eT6NEN6TE| HBSHLD?
11 11

-12

2 12 -2
TR T 11 11

11 11 11
e) Answer not known / eflenL aisflwefisosneo
The side of asquare is 10 cm. If its side is tripled, then
by how many times will its perimeter increase?

c) d)

QG FHISIEN LSS 10 OF.15. DLW LSSID epedim)
IDLRISAGLID GUTS), &DMEITE) 61656060T LDLMISHTE HSSMHSID?
a) 3 b) 4 c) 5 d) 6

e) Answer not known / eflenL aisflwefisosnen

1
Find the sum 3+1+§+....oo

3+1+ E *...%0 a6trm O\FMLAGH EaBS60 SHetors.

a) 5 ) > 5 A
e) Answer not known / eflenL aisflwefisosnen

Riya bought¥ 15,000 from a bank to buy a carat 10%
simple interest. If she paid ¥ 9,000 as interest while
clearing the loan, find the time for which the loan
was given. (Years)

Ml eeiTueu AWHES AMRIGSHETS 150008 10%
seflautip asiip efissSHed SLETTEN OLDDTT. SieuT I9,000826
SLEMET (PIRSGLD SHeumuiled, QLTSS O\FeySHevTmiT eTevfled,
SLEMEUILI LIWGTLBSSI SM605086 &6us866. (Dpemmbss)
a) 7 b) 6 c) 8 d 5

e) Answer not known / eflenL aisflwefisosneo

Kannan has a fruit shop. He sells 1 dozen banana ata
loss of Rs.2 each because it may get rotten next day.
What is his loss?

m THOOTHUKUDI 99445 11344 | TIRUNELVELI 98942 41422 | RAMANATHAPURAM 75503 52916 | MADURAI 98431 10566



112.

113.

114.

115.

116.

SHETTENTEN @H LD 6uewilsiT. SieuT @b LPSBDS 6.2 eisid
BLLSSTED, 1 LEg6dT eumemLpLl LIPrhIHeneT 6MDmmed, Heurg
B8PS O\BTEDSHDMLIS SHeISHSDBS.

a) 24 b) 34 c) 64 d)
e) Answer not known / eflenL aisflwefisosneo
The length, breadth and height of a chocolate box
are in the ratio 5:4: 3. If its volume is 7500 cm?3,
then find its dimensions in cm.

84

R FnsGeL uriuils Berd, Siseob WwHmID 2 wrb
WPemBW 5 : 4 : 3 el6tim 6lB55H60 2 6iTeng. UGN H6oT
Serrey 7500 61&.L5° er6vflsd HG60T LSS SHerTeySHemers: 61&.L5-60

SHTEH0T8.
a) 30x15x20 b) 40 x 40 x 30
c) 84x15x12 d) 25x20x 15

e) Answer not known / eflenL aisflwefisosnen

1 1
Add the difference between 13 and 3€ and the

1 1
difference between 4€ and 25 )
1 1
15 851D 3g 856D SWLGW 2_6iTem GeumILITLemLU|LD,
1 1
4g 851D 25 BmLCW 2_siTem CGaumILIMLEHLILD Sal (Gs.
1 2 5 4
3— 3— 3— 3—
a) 3 b) 3 c) 3 d) 3

e) Answer not known / eflen aisiflwefisosnen

(A NERE S

a) 0 b) 1 c) d)

1 3
2 4

e) Answer not known / eflenL aisiiwsfisoemen

. a_3
If a,a,a,,...... are in A.P. such that, 0, 2 then the

13th term of the A.P. is

a,3,,a,...... eTetTLIeN @ Fal Bs OSLITeuflensuleysmareot.
a, 3
(Bl.D@u.b(T7 ~, eevfled 13eug) 2 mcy
3
a) > b) 0 c 8 d) 12

e) Answer not known / eflenL aisflwefisosmeo
A square carpet covers an area of 1024 m? of a big
hall. Itis placed in the middle of the hall. What is the
length of a side of the carpet?(m)

R FSIIS HDLETDMENSI, @@ WMl et LSS enDisHe0
1024157 Lpliuemeneus BIILMN| eneusSILGHDE eT6vlled, b
SLETSSMIDLIW LS:SSS60T Berd eretrenr? (LS)
a) 32 b) 12 c) 3.2 d)

e) Answer not known / eflenL aisflwefisosneo

48

117.

118.

119.

120.

121.

122.

123.

A sphere, a cylinder and a cone are of the same ra-
dius, where as cone and cylinder height are equal to
radius. Find the ratio of their curved surface areas.
@b GseniD, 2 [HewsrT DHNID Salbl| SpSweubDmlesT ShIhigeiT
&LDID. &alDL| LDHMILD 2 _([HeweTUN6dT &_WINThISET SpTSSNEE FLOLD
etevfled, SleubmletT sueweLITLILGerfle UBSID STevors:.

a) 2«/5:&:1 b) \/5:3:1 C) JE:4:1 d) \/5:5:1
e) Answer not known / eflenL aisflwefisosnen

A motorist covers a distance of 135.04 km in 3.2 hours.
Find his speed? (km/hour)

RMm arsem QULEHT 3.2 walCnrsde 135.04 &.15
O\ETenevemeus: HLESIT. (&.15/1ewof)

a) 45.2 km/hour b) 43.2 km/hour

c) 44.2km/hour d) 42.2km/hour

e) Answer not known / eflenL aisflwefisosmeo

Karun bought a pair of shoes at a sale of 25% dis-
count. If the amount he paid was ¥ 1000, then find
the marked price.

&S(HEV eTeiTLIONT R CEMs HMeveslleHeneT 25% SeTEbLIQ
eflemeoudieb eunmhieoi. Sieurt AFaISEW 1GTEDE: 1000 eresfled,
GSDISSLILIIL 6M6mevemILIS: SHT6Tors.

a) 1334 b) 1250 c¢) 1000 d)
e) Answer not known / eflenL aisflwefisosnen

1500

The cube root of 540x50 is .
540x50 @str g6t eLpeold SpHGLD.
a) 90 b) 30 c) 27 d 33

e) Answer not known / eflewL e\gflwefisbemeo

An advertisement board is in the form of an isosceles
triangle with perimeter 36m and each of the equal
sides are 13 m. Find the cost of painting it at ¥17.50
per square metre. (Rs)

8® &bUsES W&EBsTewr ealgefleyeTer @  eflembuTL
ueemsUdel &bmere 36 S WHMID JiGHehT UGN
FOLSESSHET [HED 13 1S HGD. IBMS CUETTEwILD LT @
&EIT BLLGES b, 17.50 sfisib Sp@Ld e\Feosneus: snesns. (em)
a) 1050 b) 525 c) 520 d) 252

e) Answer not known / eflenL aisflwefisosneo

Evaluate/ w8l sneturs.

(3’1 +47%4573 )0

a) 1— b) 0 c)

o 144 d) 1

e) Answer not known / eflenL aisflwefisosnen

During Aadi sale the price of shirt decreased from ¥
90 to ¥ 50. What is the percentage of decrease.

Spled semenLie eflbLensulleit@ung @@ FUewLuller eflewmeo
90 @edmmbaE 50 s GOOHSS eafled, Gempeflein
&56851D eT6tTE0?

4 4 2 3
a) 485% b) 440% ) 465% d) 41.%

e) Answer not known / eflenL aisflwefisosmeo
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124.

126.

127.

128.

129.

A mat of length 180 m is made by 15 women in 12
days. How long will it take for 32 women to make a
mat of length 512 m?

18015 Hemapsiter @@ Lnulenes 15 G1LIETTISET 12 HeTaerTe0
eFIgETT. 51215 Herdpeitar @b Lmuilenest 32 ELI6TTa6IT 61U
THSHEMEV BTETSHET DpGSLD?

a) 14 b) 16 c) 26 d) 36

e) Answer not known / eflenL aisflwefisosnen

125.

IfA:B=4:6,B:C=18:5, find theratioof A:B:C.
A:B=4:6,B:C=18:5, eeflsp A:B:C ullstr sl gs6m56

SHTEH0T8.
a) 36:55:15 b) 15:54:36
c) 54:15:36 d) 12:18:5

e) Answer not known / eflenL aisflwstisosneo

General Studies (25)

The electromagnetic radiation are used in MRI in-
strument s

a) X-ray b) microwaves

¢) radiowaves d) infra-redrays

e) Answer not known

MRI smeigerfied LWETLESSILGLD LGHTHTHS HeHEOSHET
a) X-sdiser b) misinr Sieweosmeir

C) GreGun Semeosst  d) Siss Aeuli sdisen

e) eflenL egfweisbeneo

Einstein’s photoelectric equation was experimentally
verified by

a) Milikan’s experiment

b) Thomson experiment

c) Stern and Gerlach experiment

d) Richardson and Compton experiment

e) Answer not known

getrevicstlieir @eflfletr eflemere) FweiTLMewL G&ms 6w 6T
suflwns BepUsss!

a) weosdlaett Gangement

b) smbssit Gsngemen

C) 6IRILIT6NT LDMMILD E\GiTe0Ts: Mg emeDt

d) Mesi it HmILD &MbL 6T GEnaemesT

e) eflenL egfweiebeneo

Force of attraction between molecules of the same

substance is called
a) adhesive force b) molecular attraction
c) cohesive force d) surface energy

e) Answer not known

R6 aunerfleysiTar cpevs:FamIsEhHeHSenL Gl 2 6Tem FLIL|
sflems 61601 SHMP&SILGSE
a) Gamew mil eflens D) epeossamisst FiLIL eflens
c) efer miiy eflens  d) Ly Spbmed
e) eflenL eFfweiebeneo

According to Charles law remains constant.

a) Pressure b) volume c) mass

d) density e) Answer not known

130.

131.

132.

&mevsiv eflSulledrLig miledwing SmbeE&LD
a) Swssbd b) sereney c) Beom
d) oLiss e) eflenL Osflwefleosneo

Match List | with List Il correctly and select your an-

swer using the codes given below:
List | List I

A. Astronomical unit 1. motion of objects

B. Newton 2. distance between the
earth and sun

C. Galileo 3. distance travelled by
light

D. Light year 4. law of gravitation

aflens | o Leir auflens || & awnmsd G sriurGsiter
agnaLNemHa Fluner sleLenw a\siley OFls.

aflens | auflens |

[EY

A. euesflusd v ewnmeTserfletr GwissLd

B. Buypriedr 2. ysfsab sfuensed
2_6iT6m Q15 Temeve)
C. &6960Gwm 3. @ell L&GD A\sTEneey
D. @efl Sye® 4. miiy el
A B C D A B C D
a) 1 3 2 4 b) 2 4 1 3
c)2 1 3 4 d) 3 2 4 1

e) Answer not known / eflenL aisflwefisosneo
Bolometer is used to measure

a) Coefficient of thermal conductivity

b) thermo emf c) Specific heat capacity
d) heat radiation e) Answer not Known
GuGeor LB LewILI LWGTLIGSS SH606s SHerTeflLeomLd

a) eauius sLEEIS et b) ealiLlsaluse eens
c) semeelu ghusdosst d) eeulus sdielss:

e) eflevL O\giflwefsosmnen

The mean distance of the sun from the earth is known

as
a) Astronomicalunit  b) Amstrong unit
¢) Mach unit d) Fermi

e) Answer not Known

m THOOTHUKUDI 99445 11344 | TIRUNELVELI 98942 41422 | RAMANATHAPURAM 75503 52916 | MADURAI 98431 10566



133.

134.

135.

136.

Hilwussh Hells&h @enLBw 2 eter Frmedl e\5mensoey
6RITM) SHEOPSHSLILGEDS ?

b) @pibevr o Sies

d) seums

a) eamesflued Sievd
C) e S
e) sflenL egMweisbeneo

The work done by a conservative force on a particle
moving between any two points

a) isdependent on the path of the particle
b) isin dependent of the path of the particle
c) does not depend on the force acting

d) depends on the initials and final points

e) Answer not known

RM Gower QPrei@ Letellaepsd QoLCW HaHTHS
Sifieflirenip eflens QFUILID GoremeolIneTg)

a) OUNmET BEHEHD LNHSOWE SMHSS]

b) eummeT BEG LTmSMmWE FiHESS6060

C) 65wed eflengamws FMiHSH6E060

d) esLsés wHmId wprels Lstefsmens smibSE!

e) sflewL egMweisbeneo

What is the basic concept of Raman Effect ?

a) reflection b) incoherent scattering
c) coherent scattering d) refraction

e) Answer not known

MLD6HT eflemerte) 6hS SSBHIUSENS HQUILIEHLILITE:ES E\SHTETONL &I ?
a) Ngduedliiy b) @ssseor @efllsdgmed
C) 955 ealsdsmed d) eef efleoseo

e) eflenL eFfweiedbsneo

In a nuclear reactor, the function of the moderator is

a) Toabsorb neutrons

b) To keep the reactor from going critical
c) Toslow down theneutrons

d) To absorb heat from the core

e) Answer not known

BB SNEWSSHH 2-eneouded , sewflLiuneiseflssr Lesflumeog
a) BurgnesmaT 2 LsaTdng)

b) 2 _eweo Gonewnd efi e SGSSDE

c) Buyronenseafsn Caasmss GMDEHSDS

d) o eweoulstt 2 aTERIILSDS 2 I SauTEms

e) eflewL e\gfwefieosmneo

Which of the following statement is not true for
nuclear fission reaction ?

a) Large amount of energy is liberated

b) A heavy nucleus is split into two lighter nuclei

c) The processis possible at room temperature

d) The process does not leave any radioactive wastes

e) Answer not known

137.

138.

139.

140.

Slgm&aH® Wene) sllenemuied SHERTL FabNISEHEHSET 68
SeUDneug| ?

a) Sidswen SpHeweo OeuafluiGEms

b) semoner 2 &m Ban® An 2 LaGssaTTs INSDg

C) 85 eenenr Siewn OauliLBeveouled BaLps FnQuig

d) 85 e abs dgworer s s seyser
6N Beu606men

e) eflewL e\gfwefieosneo

The Splitting up of the spectral lines of an atom radi-

ating in a magnetic field is called

a) Uncertainty Principle  b) Exclusion Principle

c) Zeeman effect d) Raman effect

e) Answer not known

PN Jlemeaneng M STHSLILoSSD sdidssamLbg
Bmimeneo eurflssiT ifleusns er6oTGmImD
a) gwlun @ ssgeub b) seiisems ssgeub
C) &ipeir eflemerey d) @pnipsit efemerey

e) eflevL O\gfwefeosmnen

Which of the following material does not have per-
manent magnetic dipoles ?

a) Paramagnetic b) Diamagnetic
c) Ferromagnetic d) Anti-Ferro magnetic
e) Answernot known

SpseiL OLINBLSe6 618 BIBST SMbHS BHLPENETHEDETE
C\EHTETIMQBEHSTE ?
a) ummeNES b) Lwrenmhs
C) SEOWMGHT &MHES d) edi LeUGIT shs
e) eflevL O\giflwefeosmnen

The charge carried by an o particle is

Qe Ol - sisefletr eTenm L Sdebr DLy DG
a) 1.6x10™C b) 3.2x10%°C
c) 0.8x107*°C d) 1.6x10%C

e) Answer not known / eflenL aisflwefisosneo
According to Sommerfeld’s Atom model the path of
the electron is

a) circular b) elliptical

c) rosette d) circular or elliptical
e) Answer not known

Gammiso® Slgw) wrSlufesr L, Sigmieflet ereosLpmeflest
LITews @b
a) ewLd b) Beir eurLib
C) Gumemliy, euigeud d) euLib Sieoeog e eurLib
e) eflewL e\gfwefieosneo
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141.

142.

143.

144.

145.

S.I. unit for magneticinduction is

&hS GnelrLegsanen S.|. Sieod

a) NmA b) Nm?A2

c) Nm?A d) NA'm™

e) Answer not known / eflenL aisflwefisosnen

The heaviest naturally occuring element is
a) Uranium b) Iron
c) Aluminium d) Silicon

e) Answer not known

(b sevTibent, BwiHensuiled SHTewrlOUNID 2 GeorsLd
b) 8wy

d) Aedgasmesr

a) wGpesflb
) Sigyuseflwib
e) eflewL e\gfwefieosneo

The resistance of a metallic wire is 1 ohm. The wire is
stretched to double its length. Now, the resistance of

the wire is

1
a) Zohm b) 4 ohm c) 2ohm
d) 8ohm e) Answer not known

Il6iTHEmL 1 QLD O\&MeiL @@ 2 Geons:s &Ll ABBSSLILLG
Sigetr Berd @ WLLASTSESILEEDS. SUOUTWS
SissLullesr LsletTSemL
1
a) Z@Lb b) 4 @i c) 2 @b
d) 8eb
Which atom model suggests/ includes the following
statement?

e) eflenL e\gMwsflcoeneo

“The electrons can revolve around the atomic nucle-
us only in those allowed circular orbits”

a) Newton atom model

b) Bohr Atom model

¢) Rutherford Atom model

d) Sommerfield Atom model

e) Answer not known

b8 Sigw) NP augald Sp&HeTTL Fahenm C\&TeuTL g
“TeosLITETHEAT Jem L LeHGIma S&ON  NSheTe
QI LLILMengUT60 oL BB ShHrleusLd”

a) BuylLeir Sigwy euigeud b) Gumt Sigwy eugeud

C) emait GUTG ey eugeud  d) GampmIeo® iy euigeud
e) eflevL O\giflwefeosmnen

In gases, an ultrasonic wave is

a) longitudinal only b) transverse only
c) both longitudinal and transverse

d) neithertransverse nor longitudinal

e) Answer not known

aumussefleo el Slemevasit
a) erBLLemevssT b) enssmessr

C) OBLLEMEd HDID GSMISHDESEET SpS BTG
d) amLLewed, GBmssmevssT Reney QNG GE0eHe0

e) eflevL O\giflwefsosmnen

146. What is the frequency range of electrogastrogram (ECG) ?

er6l60810@nm seveCrm Srmblesg ECG - 6b) Sifimereustor
OBBSELD eTedTenT ?

a) 0.05-100MHz b) 5-2000 kHz

c) 0.6-100 kHz d) 0.05-0.2Hz

e) Answer not known / eflenL aisflwefisosnen

147.Which of the following factors are not affecting the

acoustics of buildings
a) Presence ofechoes b) Adequate loudness

c) Inside noises

d) Sound distribution and absorption

e) Answer not known

Wetteuqpd SLigL @euiweled erbs sMTeni sLigLSHm5
UTSLILISe06m6D

a) e @6l &g b) Gungome sli5D
C) 2 6TGar LIS 2 HEUTEGSE0

d) @6 LRIEESE HIID 2L seuEHSeD

e) eflenL e\gfweficosneo

148.Atoaster operating at 240 V has a resisance of 120 ,

the power is

240V 1Betreni 585860 \FwisdLIBLD et &ELHMUf6tT
WesigenL 120 erevlled LledTBmesT

a) 400W b) 2W

c) 480 W d) 240W

e) Answer not known / eflenL aisflwefisosnen

149.The device based on Wheatstone’s bridge is

a) Wattmeter b) Potentiometer

c) Bridge rectifier d) Metre Bridge

efi 6oL 66T FETTESHDIEH SHielILIEHLUTNEO SHeWIDHES &(HeM
a) eumSrLf b) Wietrempssionesi
C) swenssbn Smeodmsd d) BULT swerESED

e) eflevL O\giflwefeosmnen

150.The ratio of Ne and He gases used in He - Ne laser is

He - Ne Geverfleb Luwsiiu@ssLLGLD eunwssetleo Ne whnib
He aunusser emhg elldsssed 2 eieng

a) 4:1 b) 10%:1

c) 1:4 d) 1:10°

e) Answer not known / eflenL a\sflwsfisosnen
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